- ' GEOMETRY ) 5
Time : 2% Hour-)QUESTION PAPER : OCTOBER-zooa m-x. Marks : 60|

1. Solve any six sub - quastlons - T 42
(B Acircle of radius 6 ¢m has two tangents AB and cp parallel to each. othar What is the
- distance between thaqa tangents ‘?
(ii) In the given figure,
‘m (am PMQ) = 120, S
Find mZPQS and mAPQR o
(Ili) AABC APQR, then :

AB
e} Stata which ratios of sldes are equal tc 55 ek

. (b) State whlch angles are congruent to 2B and £R respeeﬂvaty
(iv) Find the dlatance between the. poln!s A (0 0) and B (-5, 12). :

(v} In the given figure,
. MZMNP = 90",
seg NQ L side MP,
MQ = 4, PQ = 16.
Flnd NGQ. :

o _,(vi) Draw a tangent toa circie of radlus 3 5 cm at a polnt P on it. (Do not write tho steps of
. comtructlon ) : _ o o

- .

(vil) Ifcos A = -:— then find the value of sin A.- o : e

{viil) The length, breadth and height of a cuboid are 20 cm, 18 cm and 10 cm fespoctlvely _
' Find its volume. . S _ S S _
2. Solve any four aub-quutlons : ' ".1.2 .
(i} in AABC AB‘ +. An‘.‘;2 =122, BC = 10 Find the Iangth of the median on side BC.

i

{li} in_the gtv_en_ figure, -'anglq baMaeff‘tw&:agll.of a circle Is
. 120° Tangents to the circle are drawn at the outer ends of
theae radi. Find the maasura of tha angle batween the
tancents .

(lil) ln the given ﬁgure.
. 23 ABCD Is cyclic..
Prove that : = - '
- m<ZABC * mAADC 180'

C-

{iv) Draw the circumcircle of AABC, such that mzs 90" |
BC = 5.4 cm, AB = 8 cm. (Do not write the steps of construction )

(v} Evaluate: cosec?87 - tan?23. : '

{vi) The volume of a cube is 512 cm’ Find the total surface area of the cube .

3. Solve any four sub-questions : 12
(Y The sides of the smaller triangie out of two slmiiar triangles are 4 -8B and 8. If the
- rimeter of a larger triangla is 90 then what are the !angths of the sides of the Iarger
rtangle? . D

_(II} In the -given. figure, - -
ADEF is an equt!ateral triangha
seg OP | sideEF and E-P - F

: Prowe that : DP’ = 3EP2, '
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(iu) in the given f'gure, _ .
A is the centre of the circle,. o T
AN = 10 cm. Line NM is tangent at M. B
Determine the radius of |

' thecircle ifMN = 5cm.

(i\r) In the given figure, point M in the interior of the ctrcle is a point
~of intersection of two chords AB and CD of the same c:rcle Show
~ that : . -
CMxBD = BMxAC o :
(v) Show that : (see 6 + tan 0)(1 - sin- 9) = cos 8..
(vi)if A = (6, 8), B = (3, 2) and P dmdes seg AB mternally in the ratio 4 3 ﬁnd the
coordinates of P. : . _ :

Solve any three sub- questions H _ ' ' ' 12
(i} Prove : In & right-angled triangie, the square of the hypotenuse is equal to the sum of
- the squares of the remaining two sides. _ i

(ii) Construct AABC such that BC = 8 cm, mZBAC = 40° and aitltude ' o

. AD is of length 3 cm. (Do not write the steps of construction.)

e (iii) In the given flgure, a circie touches side BC of the AABC

- from outside of the tnangie at point P. Further extended
{ines AC and AB are tangents to the circle at N. and M :
vespectively. Prove that : AM = ‘A(Penmeter of AABC). -

{iv) in the given figure,
iine AP is a tangent to the circle at A,
secant through P intersects chord AY
- in a point X such that AP = PX = XY. -

_ KFPQ =1and QZ =8, f‘ndAx -

(v) A road roller of diameter 0.9 m and length 1.8 m is used to press the ground Flnd the
area of the ground pressed by it in 500 revolutions. (Given : "= 3.14)

{vi) If the area of two similar triangles. are equal -then prove‘ that they are congruent _

. Solve any three sub-questions : - 12

{) Prove : If a line paralie! to a side of a tnangle intersects other two sides. in two distinct
- points then the other sides are divided |h the same ratio by it. . .

(ii) G (x, y} is the centroid of AABC, where A = (~-1;-7) B=(3, 5) and C = (- 14 19} Find
- the coordinates of G. Also find the distance between the points Band G,

(iii) A tree breaks due to storm and the broken pafit bends so that the top of the tree
touches the ground making an angle of B80° with. the ground. The distance from the
foot of the tree to the point where the top teuches the ground is 20 metres Find the
height of the tree.

{(iv) A cylindrical ice-cream pot of radius 20 cm and helght 60 crn is filled oompletely with
ice-cream. It was packaged in ready to sell cones of radlus 2 om and helght 10 cm.
How many - such cones can be filed 7 _

{(v) In the given figure, points B and C
. lie on tangent 1o the circle drawn at point A,
Chord AD = Chord ED.
If m{arc EF) = ¥am(arc AD) and m(arc DE)
" 'then determine :
' {a) m‘éDAC (b) m«£FDA (c) mAFED (d) mABAI‘-'

(m) Draw a circle with centre M and radius 2.7 crn Take a p0|nt P such that Iength of seg
- PM-is 7.5 cm. Draw tangents to the circle through P. Draw a carcle that touches the
- ¢ircle and the tangents. _ o o

{Do not write the steps of construction.)
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